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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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Proportion
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Ratio-3 (Basic Question)

If 5400 divided between Ram,
Shyam & Amit in the ratio 3:2:4

Jind the difference between the
share of Amit &  Shyam? i=
5400 THT =, FATH 3NT 74 & ==
3:2:4 & U@ W fawitoa e
FATAT &, a1 310 37K 3919 <% @& &
el hT AT FTH ShiteTu?

(a) 1400 (b) 1660 (c) 1680
(d) 1170 (e) 1200
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and C in such a way that A will get one third

S ——————————

as much as B and C together get. while B will

then what is the share mone
3000 T hHi TIIT T A, B 3TRE
g Ay rar sz e A Rt o=
o a1 B 371 C ot Ush | fHem) gO
B 1 21 s firciit et A 3R C 1 s Tkt
forer | fost wesres TSI ST 9T BT

v

sH e
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Ratio-3 (Basic Question)

A sum of money divided to be in the ratio 2
: 3: 5, by mistake money divided in the ratio

f
0 C gets Rs. 1800 fess. Find th :@
* 4

of money? QEFWTTETZ:.%:SEFW -

farsnfSra st ST oft Wi aF AT et |

4:3:1 & uTa ¥ fawiore 2t 7381 Eifere C 0
\¥

%! 1800 $YT W ITH ¥ Fer gior s oF

2 ,\///“

1500 b) 2000 2500
(a) (b) () (‘E.‘ 13

(d) 3000 @




Ratio-3 (Basic Question)

Rs. 1087 among A, B, C are
divided in such a way that if Rs.
10, 12 and 15 diminished from
their shares respectively, the
remainders will be in ratio of

5:7:9. what is the share of B?
1087 9T A, B, C & 19 30 o1& | fawitaa <o

ATa 2 o afe 33k yraa o 9T 10, 12 3117 15
F9T HA E AT &, al 919 T 5:7:9 o AT9T9 A
I B &1 BeaT st 22

A) 360 B) 362 C) 365
D) 370
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Ratio-3 (Basic Question)
If the Ratio of successful and

unsuccessful students of aclassis 6 : 1
if 60 more student have been

becomes 9:1 . what is the total

in the exam then ratio
ﬁ

number of students in the class?

qfe Uk HEAT & A N ATHE BEI
T ATYE 6 : 1 B TS 60 AR B
QT § T%eT U B, A1 A9 9: 1 8
ATAT 21 HEAT H BTA hi het HEAT I
[

\ 9
1=
Scav -~ ‘ox'\
———— | ~
9 oo ' \'/"
2ot
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If Salary of two person are in the ratio 2 : 3

. After a year, salary of first person is
decreased by Rs 4000 and salary of 2nd

person is increased by Rs 4000 then new

ratio of their salary will become 1 : 2 . what W
is the salary of each person Initially ? \‘\/
afg 3t safwat st Ja- 2: 3 % AT | 2

Ush |TcT ok 912, Uged SAi+h ohl aa+ 4000
HUY HH AT AR TAL SAlvh o Aa4 | 4000
H9Y ht Fheg &3 A1 I7ch a4 el 79T HATITA
1: 2 BT ATOMT| SRS § Uedeh SA1h ohil Sad
T2
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Ratio-3 (Basic Question)

The ratio between twono’s X & Y is

§ o7 whes subtracted from
10 becomes 17

both no’s then new

: 27 . Find the greater no) Before

subtraction? =T NX&
<l T AT 5: 7 7. AT 80 I

nmmgmmﬁm :

17: 2731mmglamatnzﬁ
HEAT AT hitAA? % ‘m

(a) 84 (b) 64 (c) 80
(d) 70 (e) 350







Ratio-3 (Basic Question)

The ratio between two no’s is 3 : 10 ,
when 60 is addd in both no’s the ratio
becomes 9 : 23. Find both nos Initially?
g1 TEATSAT & S T AT 3: 10 B, 5
AT GEAtet W 60 i AST W@T g, ol
HFTUTA 9: 23 T ATAT 2| THH | SHT HEATE
AT L2

(a) 84 .64 (b) 64 ,92 (c) 80,90
(d) 120, 400 (e) None of these
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Ratio-3 (Basic Question)

The ratio between twono’s X & Y
iIS 5 : 7, when 9 subtracted from
both no’s the raMes 2 LE
Find the greater no. Before
subtraction? =T HEATAT X AR Y &
i ST AU 5: 7 &, T 9 i L
H 9T ATAT § O shig 49T AT 2
. 3 B ATET 21 9T ¥ T J=t SEAl
T hIteTa?

(a) 84 (b) 64 (c) 80

(d) 70 (e) 63
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